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13. The figure 7 below represents a velocity - Time graph of a ball bouncing upwards from the ground.
The velocity upwards is taken to be positive.

i)

v

20
Tlglr'e (s)
Determine the maximum height the ball rises.
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SECTION B (55 marks) QJ@"

14.a) Define absolute zero temperature of an ideal gas. C}Q'Z’Q (1 mark)

B ..................-....,....,...........,....,..‘Q‘ ...................................................................................

b) Using kinetic theory, explain how a rise in t pei‘ature of a gas causes a rise in pressure of the gas at
constant volume. ; \é\\ ' (2 marks)

R

2
¢) The figure 8 below shox@@% set-up to investigate the relationship between temperature and volume for
a certain gas. < N

Thermometer

I
d(r
= Stirrer
— = l;—= :___:- Conc.Sulphuric acid
Fig 8 B :¥ == Air
S e Siator

Bt

heat

i)  State two factors that are kept constant inorder to determine the relationship. (2 marks)™
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ii) Explain the function of :

I. concentrated sulphuric acid. (1 mark)

""'""'""llﬂ-ﬂ---o---------------u-u-a-.-."-.--.-"u--..--..-u-u"u--.-.-.""..nnu....--.-.-".u-......--.---"uuuuu........."...

e T e b T T Y

II. Stirrer. (1 mark)
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d) 1) On the grid below, sketch a graph of volume (cm?) against temperat% or the experiment above.
Clearly mark with letter T the absolute zero temperature. Qrz}' (2 marks)
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400 -300 200 & -100 100 200 300

> °
é\Q Temperature (°C)
ii) Explain why the temperatur%ﬁ? part d(i) cannot be achieved. (1 mark)

@
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¢) Air trapped inside a glass tube by a thread of mercury 240mm long. When the tube is held
horizontally, the length of the air column is 240mm.

e g

< 750mmHg

Fig 9 s
-

Li= 240mm 240mm
Assuming that atmospheric pressure is 750mm Hg and the temperature is constant, calculate the

length of the air column when the tube is vertical with the open end upwards. (3 marks)

....................................................................................................................................................................
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15.a) Distinguish between angular displacement and angular velocity. (2 marks)
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b) The figure 10 below shows a mass moving on a horizontal plane.

=)\

Tube

String

3 Direction of
e whirling the tube
vl

s

Fig 10

MY 2 | <V

i) State what is observed on mass B. O (1 mark)

ii) Explain your answer in(i) above. Q,Q@ (1 mark)

.“""n““_"u”u“““h"""""""H"""""“"""""_"“""“"";§§&"""""""H""““““__"_"“p""""""""”"".“
c) i) The figure 11 below shows a boy of mass 50k inging on a rope of length 2m.
Jzéazaz¢§§§
Fig 11 [T Rone

Q:\\
9

If the tension on q\'@(t%pe is 549N, calculate the velocity of the boy at the position shown in the

diagram. (3 marks)

T T O I

ii) State the form of energy possessed by the boy at positions A and B. (2 marks)

..............................

..................................................................................................................................................................

KERICHO WEST - 2016 7 (RK)FORNM 4= PHYSICS -






iv) Hence, determine the tension T, in the string.
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¢) A certain solid of volume 50cm?® displaces 10cm?® of kerosene of density 800kg/m?® when floating.
Determine the density of the solid. (4 marks)
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17. a) Define stating SI units the specific latent heat of fussion. O (1 mark)
™
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b) The figure 14 below shows a block of ice. A thin copper wire mttFtwo heavy weights hanging
from its ends passes over the block. @-0

%g’o
Copper QQ}
wire &
7

>

&
R
1) State and explain the observat;'ganade after some time. (3 marks)

--------------------------------------

.....................................................................................................
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c¢) Figure 15(a) and (b) below shows methods of measuring specific latent heat of fusion of ice, Two
funnels A and B contain crushed ice at 020,

Immersion

Fig 15

The mass of melted ice on each funnel is measured after 12 minutes.
Mass of melted ice A = 200g

Mass of melted ice B = 308g N4
i)  What is the reason for setting up funnel A?

ii) Determine the: &
I Quantity of heat supplied by the heater. Q,é (2 marks)

e T T T T T
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ITL. Specific latent heat of fusgio
BN

of ice, (3 marks)
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b) Determine the distance moved by the effort downwards.
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